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Directions : Read the passage carefully and
answer the corresponding questions : (1-3)

I climbed into bed and rolled myself in my
blankets, first extinguishing the light that
burned steadily near the door. I lay still trying
to get to sleep but my fear made that
impossible and soon I sat up in bed peering into
the darkness and occasionally glancing at the
round window in the side of the ship which
seemed like a plate suspended in the darkness.
For an hour I must have sat like this, and then
I was suddenly roused, by a drought of cold air.
I jumped out of bed; not having allowed for the
motion of the ship, I was instantly thrown
violently across the room.

1.  The author jumped out of bed because
(A) he was pushed by someone.
(B) he saw someone coming towards
him.
(C) acold breeze blew past his face.
(D) he heard a faint sound.

2.  Which one of the following did the
author do first ?
(A) None of these
(B) Climbing into bed.
(C) Rolling himself into blankets.
(D) Closing the door.

3.  The author sat peering into the darkness
because
(A) he was afraid.
(B) he wished to see the window.
(C) the window had looked like a plate
(D) he had put out the light.

4.  Give Antonym for the following word :

Keen
(A) Eager (B) Alert
(C) Humble (D) Dull

5.  Give Synonym for the following word :
Pride
(A) Cowardice (B) Hate
(C) Dignity (D) Humour
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39 TG 1 =T hITSTT ST FHG o STeh] Teq]
T e el @ |

(A) el (B) IR

(©) FH (D) = (erdfferf)
Choose the word which is least like the
other words in the group :

(A) Priest (B) Knight
(C) Monk (D) Nun
fepeht fifead e w1 § COMPUTRONE

%! fof@r S 8 PMOCTUENOR | g&ft
%e W1 § ADVANTAGES %1 %1 feran

S Y

In a certain code language,
COMPUTRONE is  written  as
PMOCTUENOR. How is
ADVANTAGES written in that code ?
(A) NAVDASEGAT

(B) AVDATNSEGA

(C) AVDATASEGN

(D) SEGATNAVAD

Teh HATGH! - Ueh Aleel & T, “Jrel Hi
ufdl 1 98T Tl g3 7 |7 9% Hiea 39

e & forg TR Fafta g 7
(A) =& (B)
(C) =t (D)

A man said to a lady, “Your mother’s
husband’s sister is my aunt (Bua).” How
is the lady related to the man ?

(A) Sister (B) Grand daughter
(C) Mother (D) Daughter

feu U foereut ® @ efuq e w1 WA
i -

sl ST ;s ?

(A) =8 B) 13

Select the related word from the given
alternatives :

Dog : Rabbies : : Mosquito : ?

(A) Stings (B) Death

(C) Malaria (D) Plague



10.

11.

12.

13.

YR oh 39 TUH T bl T4 =1 & 8 3799

it Fenfer < e < veH fhan g 2
(A) HAEH (B) dHTHT
(C) T (D) TR

Name the state of India which became
the first state to provide health insurance
for all its residents.

(A) Karnataka (B) Telangana
(C) Rajasthan (D) Gujarat

ISR, T 22 IR, 2021 § g =
T 1 U SIS ST oL T Sfcrarer o fean & 2
(A) THASETE (B) fosn

(C) * (D)

Which payment system has been barred
by RBI from issuing new cards from
22 July, 2021 ?

(A) None of these (B) Visa

(C) Rupay (D) Mastercard

INT & TR T ANTEhdT 9¢H & 3¢9 I
T | ferteh gRT AITSe U “HHE I
& feran I 2

(A) T H RIS TE

(B) T HATH

(C) 3TN FATe .

(D) W Ud TRAR o0l HATd

To raise awareness about Yoga, Mobile

app “Namaste Yoga” launched by

whom in India?

(A) None of these

(B) Ministry of Home Affairs

(C) Ministry of Ayush

(D) Ministry of Health and Family
Welfare

Ife 18 ®EH, 2005 I IEHAR 8,
18 ®adl, 2007 1 s @1 fem ghm 2

(A) FHamR (B) HMHER

(C) TWIHaR (D) Taar

If 18" February, 2005 falls on Friday
then what will be the day on 18"
February, 2007 ?

(A) Wednesday
(C) Tuesday

(B) Monday
(D) Sunday

14.

15.

16.

17.

2021-22 % TR FTR (JAE-THaR) &
fTugrafg @ fI TS A 2

What is the interest rate on Sukanya
Samriddhi Accounts for second quarter
(July-Sept) 0f 2021-22 ?

(A) 9.6% (B) 6.6%

(C) 8.6% (D) 7.6%

AR TA7 3 HIHR T 79 T BRI I
%1 AT dieiige T % AT W
wie |

(A) fTmsem  (B) e =mer

(C) eI TIghIvT (D)  Uvarai T s

The Indian Army has named one of its
firing ranges in Kashmir after
Bollywood actress
(A) Vidya Balan
(B) Priyanka Chopra

(C) Deepika Padukone

(D) Aishwarya Rai Bachchan

9 2021 % 7w form <1 61 arare fava
T ged SfwerTedt grEare i gl § gey
SR ?

(A) ST (B) .

(C) ¥Rd (D) &5

Which country’s passport has topped in
the most powerful passport in the world
for the year 2021 ?

(A) Japan (B) U.S.

(C) India (D) Russia

TR GUtafeEE 2021 | foheel Iid
TS o S -aTgeh o foTC TG foka T/ 2
(A) i iz

(B) I ATee]

(ORE-cE-EiEiel

(D) ST ARSI

Who has been named the flag-bearer of
the Indian contingent in the Tokyo
Paralympics 20217

(A) Ajeet Singh

(B) Mariyappan Thangavelu

(C) Devendra Jhajharia

(D) Kashish Lakra
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18.

19.

20.

21.

22,

Ifvges wnifa gaere 2021 T & A1 <N
M ?

(A) g (B) Stieive
(C) ABEAS (D) SHH

Global Peace Index 2021 topped by
which country ?

(A) Portugal (B) New Zealand
(C) Iceland (D) Denmark
HF W T WHR 7 g gfera
TR TR0 TS 1 AR feharm 2 2

(A) faEr (B) Y e
(C) deArg (D) T

Which state government implements
Chief Minister Dalit Empowerment
Programme ?
(A) Bihar
(C) Tamil Nadu (D) Telangana
et 1 @ Form 2 1 “ofet ST 1 T %
9 E ST ST 8 2

(A) et (B) e

(C) Ut (D) S
Which of'the following countries is known
as the land of “Thunder Dragon™ ?

(A) Srilanka (B) Bhutan

(C) Nepal (D) Japan

T fomm o1 <Y ToteT 2 2

(A) THABETE (B) wierey

(C) &3 (D) HMWER
Riyadh is the capital of which country ?
(A) None ofthese (B) Bangladesh
(C) Saudi Arabia (D) Myanmar
afeTg faum @ 2021 1 9@ fhm
TSI g H St ?

(A) ...

(B) I

(C) T.3E.T.E.TH.&.

(D) ...

Tamil Nadu Assembly Election 2021
was won by which political party ?

(A) PMK (B) BJP

(C) AIADMK (D) DMK
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(B) Andhra Pradesh

23.

24.

25.

26.

27.

T |1 < T 5T HCE| ol HRIhTS foha
TIBTEATR 7

(A) 89§ (B) 49§

(C) 6a8 (D) 2§

What is the tenure of the elected
members of Rajya Sabha?

(A) 8 Years (B) 4 Years

(C) 6 Years (D) 2 Years

Torea & v Uy oo e AT ST B 2
(A) 307d (B) 24 3R

(C) 277Es (D) 20 TR
When is the United Nations Day

celebrated across the world ?
(A) November 30 (B) October 24
(C) November 27 (D) October 20

FAT =TT el R 2 2
(A) ferr (B) T&m
(C) WReen (D) foman

The International Court of Justice is
located at

(A) Vienna (B) The Hague
(C) Amsterdam (D) Geneva

fowa wirg “@SuE!’ qideemd fm g —
(A) TENYH (B) WA YW I
(C) snfemd (D) TSRIGH

The world famous ‘Khajuraho’ sculptures
are located in

(A) Maharashtra
(B) Madhya Pradesh

(C) Odisha

(D) Gujarat

&A% i 3fY T Wi 1 F= o @ B @
T T8 BT R ?

A) e (B) T3

(C) HeTe (D) fufesn

Which of the following is the smallest
state (in Area) of India ?

(A) Mizoram (B) Goa

(C) Meghalaya (D) Sikkim



28. =1 ¥ 4 Ml U BNaTE W TR @ 7
(A) FAREIHRIHEA (CFC)
(B) ATEgIH
(C) <hIsH STEATRATSS
(D) e
Which of the following is not a green
house gas ?
(A) Chlorofluorocarbon (CFC)
(B) Nitrogen
(C) Carbon dioxide
(D) Methane

29. 379 ThR fepafert feu S & 2
(A) Tafsre gurs qeansti & foe
(B) I H ofiwar  feru
(C) WA & § IchE ez & forg
(D) 3mTdeRTen fefe # forfdTe dar h foerg
Arjuna Award is given for
(A) Exceptional social services
(B) Bravery on battlefield

(C) Outstanding performance in sports

(D) Exceptional service in emergency

30. UTHg AShRIEN 3cHd 390 O fha U9 9§

qEg R ?
(A) 3nfesm (B) faEm
(C) TSEY™ (D) A

The famous Nabakalebara festival
belongs to which of the following states?

(A) Odisha
(B) Bihar

(C) Rajasthan
(D) Kerala

e« Fr=ferRaa e <t exYE ufew e 3|
TR 3G YT (31-35) o ST AT :

A JU A H 399 3R TR

- fordtwed Yy wtar 2 3R R Teras 9ur o

SHHT HIATE T2l & | HETeHT et o e § 78 Ig
fomn fopeft $saf-gw qen @F-wUe &% @1 M
o7 | TEASH 38 FImIE HEd A | 39k WS 36
e, enfifes e qenm 3= IuAfRET 1
AT BT Tl o7 TS 37k HeTeRuT 3T SEER
HI | W WA S hl TR W@H H &
TN IE & o T8 Sails o1 J1Ulq 3 e %
B TR Al o 0T |iFferd o, =8 o o &
1 e, A A7 A B 3reran fafie uer & |
3G 1Y &l IE Ueh A0 3 Tadadr il
%1 GOWefiel TP 3TGieq o1 | W09 9RA
TR o &Y H W AT SdiEehal 3R gH-

| T 61 A9 33T @ § | BH 9 8l |ehd b

34 9 SN § 37U 16 KA & T gA 39T
feffer 72 <7 dehd & =1 IS el HHT AR H
fean ST 1 &w 3wk foreg, 3TaTSt & 381 Hehd
o 37 EH ST T TaAdTIaeh oh el ot Tehd
O

31. 3T T H oRES 3 &I €Y H AR 7

f

(A) ETeHT Tt o A | TS e
Har o |

(B) ITSE & Ty H FHuehi 1 &1
INTEH T |

(C) T[T <1 <ht o1 heft oft |

(D) SIS § shifcehTie <ht fereiy yfirent
of |
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32. IR RIS o OREeh T IeTT AT AT ?
(A) SR ¥ BT SaMT |
(B) YRR Todar Tum hr fersivar
AT |
(C) ST TS o Q9 M |

(D) enfifer ST 3R HUSHEER

EEEIRCIN

33. iR & rfimme 2
(A) el oft gvf =t 7 o
(B) o T gAY T T
(C) & i 3rasm
(D) @t g 1 TR

34, 9 WAT S TR AW WdFdl Gum™
ST 9T ?
(A) 3an eft Sfe, s, ot < A
T ot o |
(B) o fawg 3R woermH wftifera gu |
(C) Ig WaAdT-UfHi b1 HATGIer o7 |
(D) IE WETEHT Tiehl % FEeIagr 3R
AT bl Tellh T |
35. Suth e H WIRh ‘TR’ wee i 31
3_
(A) TMHTE (B) IHHIE
(C) M HEIAR (D) ITH A AR

T - fr=forRaa e <t ey ufew qen 34
T ST T (36-40) o IT T -
faemar-traa 3@ gfy = faui & w3 |
3G BRI H1 FEY T | TH TS I
SRS 1 T Y TR TR Srifehi 4 Fq.
g T STRIUE” Sl Shed1 shi off | ITeh! 8 HeaT
AT o1 A& oft, Tea Jemef o} oft Riifer -
T B S foramen & &9 § ufed g 2, e 1
w0 @ A GE R | T A T, g b1 IR o
Ffem & | @ 1 U el HAThYeh o SATevgny
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9 G H I FE ¢ 7 A T HA(gdd &
qHE-Hied | HEcehRl 4 38 ®I-Gied &
0T o foru fee &1 STSrEqelt <h1 feramt fepan & 3R
39 Gl -l @ Tt i AT i & o
3T 1Y GeeAT @ STefl & |
arfgerentet 3 off gt ama i et
1 ferer hd g 3 T ol vt fopam 2 |
] ST g1 ¥ T fopan Sie at ae-IRR
1 Teh STfect I § Ut foma <1 gehar @ | f5
YR I o Th Il | QY 37 IH T T/ I=
TTEHS] ATl 8, SehR &1 ST & SHI TehR e -
TR % fafirer sreal o @ afe g weh ree ot
forTe Srar @ 1 &R IHTE ER IR W 9LSdl § |

| 3O B AR, TG S8 I TE AT (66 o @

B I A I8 Tiaeliel 9ga ThHiush JHeeg &
Al §, Sk ol Jog &l Fohal & | Th 37T &
foepa B T A iR 2fved @1, 98 Heswatad
1 ST — 78 feamofia 2 |

Ife forelt I % TS I FCeTht 3T TIH
T AT YA SR I bl qard T U Saaferd
&Y g ToRATSiiet S/ ST dehdl @ A1 AL < faehd
3 % TIF W T T 37 SRt IR !

| T UF 9 T AR ST ST Sehdl ? e -

Fafercaepi = s grf¥reagut I 61 wier T
AT R STaE™ qUiETEAT & I 3T-
TR o &3 H Ahetdl ITH Sl | 3FT-TeI T
1 3¢9 2 b o <rafy e o |k | 9@ a8
eITaeT 8 fob THa-3R &2 fereft o 37 ot 3
TehR TiehR a1 shidl, 5 TR & foret o1 &
30 Tltepr T gran | Ueft b1 Th ¢ | & Th -t
ST TV STATEIIH &, dl TR0 § g

| Sdeh-g0eTu 3T B | 3T Rl od - Fafercden

e, I%d, 3id, Bhe IR TCT 1 TR
ThHAATIEH L &1 § | Ae-80 fafrareral
T gitass & 3ifafes TR & : a@eft 37
TR TE9d & T R |

—-6-— E



36.

37.

38.

39.

40.

IR SFE 1 STUTRA 3TWTE BT &
(A) AT T

(B) wfgcaemet ®

(C) woa-Tafheass d

(D) ®Tfecr A

A YRR 1 J=Add g T 8 Fifh

(A) 9FE AR foerdn sl gie 1 e
Hid2 |

(B) HE YRR I 6t AT ATavqoT gre
2

(C) 37o¥a &1 ISl < fohd &H ¥ IR
Faq Misra g A g |

(D) WHa YRR §¢ WHURE 3R saa
gfififag |

o -fafehcahl g wWiHR H T

arfrearqut <At oft

(A) Tia-Tafercan 1 Aaw waTfud &

(B) WHI-3IRR I g § S=H1

(C) 3T-JIIY g IR sl =
EEIE

(D) ot IR & T W TEY IR &A1

IT=ae H Wk TR sieg &1 qatT B
(A) T (B) @&y
(C) A D) g

T ! IS 1 oY €9 AT T & FiTh
(A) @gua @ faaam A a=hi g e |
(B) Wa giE & fawik 2 |
(C) T i Ik AW |

(D) WHe-5 # 91 ufed g 8, a8 afy
Hafed g |

& (41-45) : Twifera Tatem 4 wiwe 1 fafirm
a1 o S Icared (fuferam e o) ewrten w2
TR 37 L 3TN Fmfrfad gt o ST dfom

' Directions (41-45) : The following graph

shows the production of cement in Million
Tonnes during the various years. Study the same
and answer the following questions correctly :

100

e T IS
(Frfem za o)

Production of Cement

(In Million tonnes)

40

- 41.

42.

43.

17—

IeareA | frsel o Y gorn o o
% G 3tfershan afg 58 |

The increase in production
maximum during the year
its previous year.

was
over

(A) 2018-19 (B) 2017-18
(C) 2014-15 (D) 2013-14
W A9 99 S 37Ed Icared o1

The average production during the first
three years was :

(A) 50MT (B) 46 MT
(C) 48 MT (D) 44 MT
itz o1 Tfrehan IcuTe ot g7 38 I

The maximum production of cement was
noted in the year :
(A) 2017-18
(C) 2018-19

(B) 2014-15
(D) 2013-14
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44.

45.

¥ 2011-12 % GRA 3T Jhg wfemra
RENELEIG R

The percentage increase in production
during 2011-12 over its previous year was :

(A) FTH A HE &N / None of these
(B) 36%

(C) 37.5%

(D) 31.8%

IeTEH TR TR e 36 a9 el :
The production fell down to
maximum extent in the year :

(A) 2019-20 (B) 2015-16
(C) 2016-17 (D) 2012-13

the

TGS (46-50) : fe=m T 7T U A% X % ST
12013 T 2019 & H&F hUS F93 H <A1 2 |

Y 77U T ox e g9 o IAE |

Directions (46-50) : The following graph
shows the import of a certain commodity X in
Crore Rupees between 2013 and 2019.

The questions are based on the shown figure.
Answer these questions.

46.

4 X R =G

2000
Import of X —
g 1300
S 1200 1200
=
E 900
E700
£
= s h=t = ® 2=
h < w b o 0
= = = 3 3 B
[q\] [q\] [q\] [q\] [q\] [q\]
auft a9t o fou 99 e a9 X & 31T i
gig o1 3iHa IR H) 8

Average of the increase in import of
X year by year for all the years is
(in X crore)

(A) 0 W IS 721 / None of these
(B) 280
(C) 325
(D) 260
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47.

48.

49.

50.

TerTa fema= oIt deh X ohT 31T, X o 3719d
AT | 3feres o
For how many years, there was more

import of X, than the average import of
X?

(A) 1 (B) 3
© 2 (D) 4
X o 3719 37T ¥ 3Tferes 3T1d 3T X

ST AT § A AT o 9971 bl AT
r

The difference of the numbers of years in
which import of X is less than the
average import and in which import of X
is more than the average import is

(A) 0 (B) 2
© 1 D) 3

T4 2018-19 % GRH X  3TRATA H Fhwrd
3fi @l st 3 X 3 3T ¥ 36 e
qfafi 2 7

The percentage increase in import of X

during 2018-19 over its Average of
Import of X of all years ?

(A) 64.38% (B) 63.5%
(C) 70.6% (D) 50.9%

Y 2014-15 F 2015-16 % CRH X
31 # gl 2 —

Percent increase in import of X from
2014-15 to 2015-16 is

(A) 25.0% (B) 333%

(C) 28.8% (D) 43.0%



1w (51-55) : € 7T dTfetent /AUl 1 LGS
A L a9 e I9Ai & IS

Directions (51-55) : Study the table and
answer the given questions.

T anfetept o R =fed A, B, C 991 D 98 &
it fedi maegai A fefr e & -

In the following table four persons A, B, C and
D are selling items on different days of the

week.

A| B | C | D
@mar/ Monday | 40 | 45 | 25 | 20
e’/ Tuesday | 35 | 50 | 48 | 26
YERAR/ Friday 25 | 28 | 15 | 41
R/ Saturday | 30 | 40 | 45 | 40
51. HWER I D gRI s T8 9%, AHGR S C

BT St 718w T fehaT Wferwra oft ¢
Items sold by D on Monday is what
percent of item sold by C on Saturday ?
(A) 32.70% (B) 49.55%
(C) 44.44% (D) 42.60%
52. B, C AT D gRI shH3: HHAR, TR a2
IIfER o s=ht 7T a3 1 SNEd R ?
What is the average of the items sold by

B, C and D on Monday, Tuesday and
Saturday respectively ?

(A) 45.90 (B) 42.50
(C) 46.66 (D) 44.33

53.

54.

55.

e o gt IR e § D awg i fosht it
o1 | B a%q bl forsht ® fopaet wfersma <
gfg 313 ?

Percent increase for selling of items B
compare with Selling of items D in all
four days of weeks is

(A) 283%
(B) 19.5%
(C) 183%
(D) 29.1%

AER Bl 9=l T FEgI H 3N IR
IERAR I S TS I3 i 37Ed & Ted
fepamT SR R ?

What is the difference between the

average of items selling on Monday to
average items selling on Friday ?

(A) 6.45
(B) 7.40
(C) 5.25
(D) 10.5

HITTIR 1 A R =it T8 %] a1 IHER
I C g o=t 718 S 3BT STUT AT AT 7

What was the ratio of item sold by A on
Tuesday & items sold by C on Saturday ?

(A) 8:7
B) 7:9
(C) 6:5
(D) 9:7
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e (56-60) : €t 7S arfeteRt /ATl W61 Y
I L q i feu T i 6 3T e

Directions (56-60) : Study the table and
answer the given questions.

YR ¥ 2010-2017 & T BHAT 1 IATET

Production of Crops in India during

2010-2017
(e ﬁ) / (In tonnes)
T/ | W/ || aow |/ | S| e /| e/
Year | Wheat| / / | Maize| Barley| Pulses| Potatoes
Rice | Bajra
2010-11| 6121 | 874| 565 80 300 415 210
2011-12| 7010 | 964| 655 | 60 | 312 | 417 220
2012-13| 7112 960| 780 55 210 680 222
2013-14| 7056 | 985| 1110| 40 200 310 245
2014-15| 6896 | 716| 1160 90 | 216 | 370 315
2015-16| 6912 | 826| 1450| 110 160 300 400
2016-17| 7617| 812| 1460| 75 216 260 445

56.

57.

GAMMA21

=4 O forl w8 | 2013-2017 & 99

ITE | AR g &t 1 TS 7
(A) S (B) i
(C) T (D) W=

Which of'the following crops showed the
continuous increase in production during
2013-2017?

(A) Bajra
(C) Pulses

(B) Barley
(D) Maize

2010-11 8 2016-17 i 1G4 o 7&T 3]
1 3 IcqTe fohaT R 7

(A) 2538631  (B) 293.8637
(C) 3539631 (D) 300.002F

What is the average yield of potatoes
during the period 2010-11 to 2016-17 ?

(A) 253.86 tonnes (B) 293.86 tonnes
(C) 353.96 tonnes (D) 300.00 tonnes

58.

. 59.

60.

-10-

2016-17 < A 378 © ford wH o IcdTe

¥ formet o o qormn o fiere gl 1T 7
(A) 3T (B) st
(C) =mEd (D) St

During 2016-17, which of the following
crops showed decrease in production in

comparison to the previous year ?

(A) Potatoes (B) Bajra

(C) Rice (D) Barley

HTE] 1 ITET 2015-16 § 2010-11 I
31gTeH fhaT O § ?

The production of potatoes in 2015-16 is
approximately how many times that in
2010-11?

(A) 1.90
(B) 2.00
(C) 2.10
(D) 1.82

% 3ered 3 Far a3 S e e
U

Wheat production started showing a
slump during :

(A) 2016-17

(B) 2015-16

(C) 2014-15

(D) 2013-14



61.

62.

63.

64.

o -3g -3 foper 3 & 3Tt & wfsa

g3 AT ?
(A) THIABE R (B) T
(C) dfugars (D) FRR

Siraj-ud-daula was defeated by British in

the battle of :

(A) None of'these (B) Plassey

(C) Wandiwash (D) Buxar

T A I gy A T et Tmeie o1 2

(A) weRfE®™m (B) oS st

(C) e firan (D) AT doisTedl

Who among the following was the great

protagonist of the ‘Doctrine of Lapse’ ?

(A) Lord Hastings

(B) Lord Dalhousie

(C) Lord Minto

(D) Lord Wellesley

WA 3fgmd 8 el i 9 2

(A) TTHERE T

(B) 5w forshmTice <l @t ! geiifera
T o1 Tidrg, Fafercaeh

(C) B % THY o Teh TAg TCHHR

(D) 5T = o Wieg St

In Indian History who was Dhanvantari ?

(A) None of these

(B) A noted physician who adorned the

court of Chandragupta Vikramaditya

A famous dramatist who lived

during the time of Harsha

A famous general of Chandragupta

Maurya

Traferiaa forg shm o W 31T 2
. THEq

II. R
L 239

In which order did the following come to
India ?
I Thomas Roe

©)
(D)

II.  Fa-hien

[I. Hiuen-Tsang

(A) I, I 1I (B) IL LI
(©) IL LI (D) LIL I

—-11 -

65.

66.

67.

68.

I3 I fore o WG | 9o o) 7R ?
The Simon Commission first visited
India in the year

(A) 1928 (B) 1926

(C©) 1919 (D) 1925

TR T ®ue grn foeg aAfeeye o
vfgTiies “qul s (U Waedr) &

AT TR TR T 2
(A) &S (B) &R
(C) whUr=h (D) ==

In which session, the Indian National
Congress passed the historic “Poorna

Swaraj”  (complete  independence)

resolution ?

(A) Lucknow (B) Lahore

(C) Karachi (D) Bombay

1 =1 e ot

a. SISTA REE A 1. AT geq

b. e uret 2. gUTSES 9

c. T em 3. .. gEE

d. W& e 4. THEE=E

Match the following :

a. Indian 1. Lala Hardayal
National Army

b. Ghadar Party 2. Subhash

Chandra Bose

c. Mitra Mela 3.
d. Home Rule 4.

V.D. Savarkar
Annie Besant

League
a b c d
(A) 4 2 1 3
B) 2 1 3 4
) 3 4 1 2
(D) 1 2 3 4

HrRfehTefH R o ferawor areft “gfgenr &
[CERRS

(A) THIABETE (B) SRIF

(C) =Em (D) W
“Indica” which is an account of Mauryan
India was authored by

(A) None of'these (B) Fa-hien

(C) Hiuen-Tsang (D) Megasthenes

GAMMA21



69.

70.

71.

72.

GAMMA21

TTH 19 T ShITehI TS bRl TSI
Y H I o7 2

(A) Tergmm ffestend TaIfusH

(B) Tefier dfdfa

(C) ANEE 9Ra I

(D) T urdt

Which of the following revolutionary
groups was involved in Kakori
Conspiracy Case ?

(A) Hindustan Republican Association
(B) Anushilan Samiti

(C) Abhinav Bharat Group
(D) Ghadar Party

AT AR S fohg Tl e g 7

(A) HEd (B) WM

(C) Tm (D) Trerer
The Nagarjunasagar Dam has been built
across the river

(A) Cauvery
(C) Ganga

(B) Krishna
(D) Godavari

HI30E T T IUH g1 IeT8 ford a8 <6l
g ?

The Mt. Everest was first scaled in the
year

(A) 1958 (B)
(C) 1955 (D)

= o 9 forge warem meft & Raamea
TG © e w1 ferie fopam 2
(A) 3T heTM JTSITG

(B) ST &

(C) wigwe 3reft i

(D) WM 37sge THFRR WM

Who among the following opposed
Mahatma Gandhi’s association with the
Khilafat movement ?

(A) Abul Kalam Azad

(B) Fazlul Haque

(C) Mohammed Ali Jinnah

(D) Khan Abdul Ghaffar Khan

1953
1951

73.

74.

75.

-12 -

TS 59T 997 % g 371I%h 1 €id 8
(A) TSHEE  (B) RS
(C) 3HfEm (D) Coell-TSTEd

The source of iron ore for Bhilai Steel
Plant 1s

(A) Rajnandgaon (B) Korba

(C) Umaria (D) Dalli-Rajhara

few 7 etf 3R 376 TUET 1 B 91 S
TR E e
1 Sifser s gt — ST 3R el
2. S AT A1 3R -
by = - W
3. ymme, Sifd um
L

4. YA IR o o — Tafern

(A) 1,233 (B) 233

(C) 334 (D) 132
Which of the following passes and
locations is/are wrongly matched ?

1. Zojila and — Jammu and
Burzil Kashmir

2. BaralLapcha  — Uttar Pradesh
La and Shipki
La

3. Thaga La, Niti — Himachal
Pass and Lipu Pradesh
Lekh

4. NathuLaand - Sikkim
Jelep La

(A) 1,2and3 (B) 2and3

(C) 3and4 (D) land2

TLAqL H T veft s1vRmes /g 3em 1

qmR

(A) HIECTHT JAHIY

(B) U R

(C) AT T UL I&H

(D) YHUISTE IIRTY

The name of the bird sanctuary/national
park at Bharatpur is

(A) Ghatprabha Sanctuary

(B) Darrah Sanctuary

(C) Keoladeo Ghana National Parks
(D) Bhensroadgarh Sanctuary



76.

77.

78.

79.

IR Sl TFRT TR hT IAThet hid dTe!
e 2

(A) 1T TifeTeh! TaH

(B) fif s

(C) T wae™

(D) IIR.1.37E.

The agency estimating the National
Income of India is

(A) Central Statistical Organization
(B) NITI Aayog

(C) Ministry of Finance

(D) RBI
TG &5 T G AH T2 2
(A) Sy (B) Wufweh

(O IREGIRES (D) T

What is another name for the Service
Sector ?

(A) Agriculture (B) Primary
(C) Secondary (D) Tertiary
A § ToId Shifd oh STeh o &9 H i
TSR ?

(A) iEA TE

(B) . =fi| pia

(C) TH.TH. WA

(D) SAIHE Wl

Who is known as father of White
Revolution in India ?

(A) Norman Edburg

(B) Dr. Verghese Kurian

(C) M.S. Swaminathan
(D) Balwant Rai Mehta

fopeeh Sg o woreawy Hsfl faw 4 gfg
1 31fereh Ty BAAY 7

(A) AfFdTd X

(B) I sl hid

(C) & 5l R 37T e

(D) &N

Private investment will be most likely
to be increased as a result of a rise in
(A) Personal taxation

(B) The price of shares

(C) Expected yield on new capital
(D) The rate of interest

13-

80.

81.

82.

Rd % Gfee™ § 30 | 1 Tew g o
afttrfera 7Ei 2 2

(A) <UE Wiska dfgar

(B) I 3R =ae

(C)

(D) i

Which one of the following is not
included in the state list in the
Constitution of India ?

(A) Criminal Procedure Code

(B) Law and Order

(C) Prison

(D) Police

FrefeTfiea © | a1 YR dfag™ i ged
foemar i 2 2

(A) ToiRea afaem 3t fgam 6 garemr
(B) Wideg =Imra=

(C) fea=t =1 ferawom

(D) 3¢ Tefig T

Which one of the following is not a salient
feature of the Constitution of India ?
(A) Written Constitution
Supremacy of the Constitution
Committed judiciary

(C) Distribution of powers
(D) Quasi federal structure

IR | ST IR 1991 % S Tems
HAY ?

(A) T q HIE T

(B) 37eo fegrd) arstueft

(C) <. AHe foig

(D) .. T Ta

Who was the Prime Minister during
economic reforms 1991 in India ?

(A) None of these

(B) Atal Bihari Vajpayee

(C) Dr. Manmohan Singh

(D) P.V.Narsimha Rao

and

(B)

GAMMA21



83.

84.

8s.

YA g™ &1 ®F 91 3ese T

THRT I T TG % SESH % for
frefard < 2 2

(A) FT=We46  (B) 3ITTTE 40
(C) 3T=Bc44 (D) 378G 38

Which Article of the Indian Constitution
directs the state governments to organize
village panchayats ?
(A) Article 46
(C) Article 44

(B) Article 40
(D) Article 38

P-wE JeRd TS SEedT &1 foER
foper T o 2

(A) TTHYRE T

(B) 39Tk HaEdl H

(C) IS HHITH

(D) Setdd TF HEdl HHdl

Who had proposed the idea of three tier
Panchayati Raj System ?

(A) None of these

(B) Ashok Mehta Committee

(C) Royal Commission

(D) Balwant Rai Mehta Committee

7 5 9 Fa1 wRd™ AW HI SRS
=T JEH LT & ?

(A) FHEBR T

(B) Tifereh e

(C) Tsw Hifa & frgeres fagma

(D) THifetsh AfIHR

What ensures economic justice to Indian
citizens ?

(A)
(B)
©)
(D)

None of these

Fundamental Duties

Directive Principles of State Policy
Fundamental Rights

GAMMA21
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86.

87.

. 88.

89.

90.

gfeQa 1 S.I S FATR ?

(A) UfERR (B) 3irEw

(C) diee (D) HTS

What is the S.I. Unit of resistance ?
(A) Ampere (B) Ohm

(C) Volt (D) Faraday
e 1 Wl WE 3 9 ferwehl 3ufeurta
& HIU BT S ?

(A) Wifies 3 (B) UHifeh v

(C) Hfeforh 371 (D) HTsieeh 3T
Sour taste of lemon is due to the
presence of which of the following ?
(A) Formicacid (B) Aceticacid
(C) Oxalicacid (D) Citric acid

SHeheaTeh TP 8 BIdT 2

(A) THT (3&YH) (B) WYHE
(C) =R (D) TEE@AM
Carcinogenic chemicals cause
(A) Asthma

(B) Diabetes

(C) Cancer

(D) Heart diseases

T < HH A T HEAT B 2
(A) Tafsre = (Wt i)

(B) 3ferend (ufusfia)

(C) = (efia)

(D) 3= (TEieHa)

Name the upper layer of the skin :
(A) Special Dermis (B) Epidermis
(C) Dermis (D) Endodermis
fersteft 1 o |fche o e gIaT 8 2
(A) 3O HIE dlees T& il

(B) fE=&gEM®

(C) fesasg v En W

(D) Teg= 9 EH W

Current flows in a circuit when

(A) There is no voltage.

(B) A switch is closed.

(C) The switch is either opened or closed.
(D) A switch is opened.

E



91.

92.

93.

94.

37%&3)—«1%%%?
(A) Truifa T8 s T
(B) 400

(C) 500
(D) 300

How many é ’s are there in 37 % ?

(A) cannot be determined

(B) 400
(C) 500
(D) 300
36.1 _o
102.4
29 19
A = B —
19 29
© 3 D =
Th I oh! ST H 4% i AT g

aﬁ%wwmma;w%%aﬁaﬁ

T T i Il 2 | o A # gfg w1 fasra
TR ?

The population of a town increases 4%
annually but is decreased by migration

annually to the extent of %% . What will

be the increase percent in three years ?
(A) 10.8 (B) 10
(C) 105 (D) 9.8

Zlﬁ [1+2—7j :(H%jjﬁxwméz

169

If (1 +2—j = (1 +%) , then the value

169
of xis :
(A) 7 B) 3
© 5 D) 1

—15—

9s.

96.

97.

. 98.

99.

100.

13 9ftorm} 1 37Ed 68 7 | U8t |Id I
37d 63 7 3R 31Ra T1d =1 3fi|d 70 2,
@t |rdd < g § —

The average of 13 results is 68. The

average of first seven is 63 and that of the
last seven is 70, the seventh result is :

(A) 94 (B) 65.5
(C) 73.5 (D) 47
TSTaed’ Rl TIFAT 3

(A) fosg (B) WeTE
(C) Tty (D) T
‘Thicl H W g’ 9T o foqw i few o
forpen © & T wreg g ¢

(A) HHIhHIvl

(B) ferehiot

(C) Foel

(D) Hh

GY 1 g9 I I 1 IT e HETa
FAIR

(A) 3fua Fota e

(B) THaA-Terent T

(C) weraTayut furr e

(D) g SHUF A

[ T BT = HIT |
(A) WgHT
(B) dfgshR
(C) dfgshn
(D) WE=RR

fr= 1 9 e w1 fadm wse T R 7

(A) Ffuad (B) e
(C) wmfl (D) T

GAMMA21
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